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Current Review

1. A 2.0V potential difference is maintained acrossaal.s5 m'léng'th of tungsten wire with a circular cross-section’
of radius 0. 10 mm. The resistivity of tungsten |s 5 25x10°% Qm.
_ What is the resistance of the wire? ‘ :

b. What is the current flowing through the w‘iref.-;
c. What is the current density (aSsuméd uniform) in the wire?. () =1/A) ;
d. Whatis the power dissipated in the wire?
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What is the power provided by the voltage source? How does it compare to the poWer found _abo've?~
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a. Calculate the current in each resistor. »
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b. Find the potential difference between points a and b.

c. Find the power dissipated in the 2.00 Q resistor.



